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¢ Calculator.sol
¢ Counters.sol pragma solidity ~0.8.21;
¢ Migrations.sol

@

Twitter-Struct.sol

Twitter.sol

B migrations

i test

truffle-config.js contract Twitter {

@

struct Tweet {
address author;
string content;
uint256 timestamp;
uint256 likes;

ot

mapping(address => Tweet[]) public tweets;

function createTweet(string memory _tweet) public
Tweet memory newTweet = Tweet({
author: msg.sender,
content: _tweet,
timestamp: block.timestamp,
likes: ©
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tweets[msg.sender].push(newTweet);

—

function getTweet(
address _owner,
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2 @ python
>>> from transformers import BertConfig, EncoderDecoderConfig, EncoderDecoderModel

>>> config_encoder = BertConfig()
>>> config_decoder = BertConfig()

>>> config = EncoderDecoderConfig.from_encoder_decoder_configs(config_encoder, config_decoder)
>>> model = EncoderDecoderModel(config=config)
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il Iinclude <stdio.h>
#include <stdlib.h>
int compare(const void *a, const void xh) {
if (x(int *x)a > *(int *)b) {
return 1;
} else if (*(int *)a < *(int *)b) {
return -1;
} else 1
return 0;
I3
I3

int main(void) {
ane n:
scanf("%d", &n);

int *arr = (int *)malloc(n * sizeof(int));

for (int i = 0; i < n; i++) {
scanf("%d", &arr[i]);

t

int x:
scanf("%d", &x);

int cnt = B;

gsort(arr, n, sizeof(int), compare);
int i = 0;
int j =n-1;
el G e D
if (arr[i] + arr[j] == x) {
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undefined8 main(void)

@ Unknown type name 'und

long in_FS_OFFSET;
int local_30;

int local_2c;

int local_28;
uint local_24;

int local_20;

int local_lc;

void *local_18;
long local_10;

® Use of undeclared identifie

local_10 = *(long *) (in_FS_OFFSET + 0x28);

iso0c99 scanf(&DAT 00102004, &local_30); ew

local_18 = malloc((long)local_30 << 2); ® Ca
for (local_28 = 0; local_28 < local_30; local_28

= local_28 + 1) {
__1is0c99_scanf(&DAT_00102004, ® Use of und
(void *)((long)local_18 + (long

Jlocal_28 * 4));

}

__1is0c99_scanf(&DAT_00102004, &local_2c); ]

local_24 = 0;

gsort(local_18, (long)local_30, 4, compare);

local_20 = 0;

local_lc = local_30 + -1;

while (local_20 < local_1lc) {

if (*(int %) ((long)local_18 + (long)local_20 *

4) +

*(int *) ((long)local_18 + (long)loc
014 % L5P @& 1%

1 #include <stdio.h>
#include <stdlib.h>

int compare(const void #*a, const void *h) {
return (*(int *)a - *(int *)b); }

int main(void) {
int array_size;

int target_sum;
int pair_count = 0;
int left = 0, right;

int *array;

scanf("%d", &array_size);

array = (int *)malloc(array_size * sizeof
(int));
if (array == NULL) {
fprintf(stderr, "Memory allocation fail
ed\n");
return 1;
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